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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 2nd Semester Examination, 2022 

ECOACOR04T-ECONOMICS (CC4) 
STATISTICAL METHODS FOR ECONOMICS-I 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

1. Answer any five questions from the following: 
িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Define sample. 
নমুনা বলেত িক েবােঝা ? 

(b) Explain with example ‘discrete’ variable and ‘continuous’ variable. 
উদাহরণ সহেযােগ িবিcn চলক এবং অিবিcn চলেকর বয্াখয্া কেরা। 

(c) What is Lorenz curve? 
েলােরনজ েরখা িক ? 

(d) Calculate geometric mean of 2, 4, 8, 16, 32. 
2, 4, 8, 16, 32-এর gেণাtর গড় িনণর্য় কেরা।  

(e) In a moderately skewed distribution, AM =24.6 and mode =26.1. Find the value 
of the Median.  
একিট pিতৈবষময্সmn িবভাজেনর েযৗিগক গড় =24.6 এবং সংখয্াgr মান =26.1। মধয্মার মান 
িনণর্য় কেরা। 

(f) 066108 yx  and 02141840 yx  are two regression lines. Find 
correlation coefficient. 

066108 yx  এবং 02141840 yx  dিট িনভর্রণ সমীকরণ। সহগিত সহগাì িনণর্য় 
কেরা। 

(g) What is wholesale price index number?   
‘পাইকাির দাম সূচক’ কােক বেল ? 

(h) What is cyclical fluctuations? 
‘চkাকার িবcয্িত’ িক ? 

  
2. Answer any four questions from the following: 

িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ 
5×4 = 20

(a) Compare mean, median and mode as measures of central tendency. 
েকndীয় pবণতার পিরমাপ িহসােব গড়, মধয্মা এবং সংখয্াgr মােনর tলনামূলক আেলাচনা কেরা।  
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(b) (i) Define Ogive. 
‘Ogive’-এর সংjা দাও। 

2

 (ii) Draw a pie chart using the following data. 
িনেmর তথয্ বয্বহার কের একিট বৃtিচt অìন কেরা।  

Sectors (িবভাগ) Expenditure (in thousand rupees) 
খরচ (হাজার টাকায়) 

Agriculture (kিষ) 48.5 

Industry (িশl) 30.7 

Irrigation  (জলেসচ) 11.5 

Transport (পিরবহণ) 15.4 

Miscellaneous (িবিবধ) 6.4 
 

3

  

(c) Show that ∑
n

i
i Ax

1
 is least if  A=Median . 

েদখাও েয ∑
n

i
i Ax

1
-এর মান kdতম হয় যখন A= মধয্মা।  

(d) Show that 11 xyr   xyr correlation coefficient. 

pমাণ কেরা 11 xyr  xyr সহগিত সহগাì। 

(e) The first three moments of a distribution about the value 3 of a variable are 2, 10 
and 30 respectively. Obtain the first three moments about 0. Also find the 
variance of the distribution.    
একিট িবভাজেনর 3-এর সােপেk pথম িতনিট ‘moment’-এর মান যথাkেম 2, 10, এবং 30। 
তাহেল চলক রািশর 0-এর সােপেk pথম িতনিট moment-এর মান িনণর্য় কেরা। িবভাজেনর েভদ 
মান িনণর্য় কেরা।   

(f) Explain whether correlation coefficient is independent of origin of reference and 
the units of measurement.      
dিট চলেকর মেধয্ সহগিত সহগাì-এর মান মূলিবn ুর অবsান ও একেকর উপর িনভর্র কের িকনা 
িবচার কেরা। 

  
3. Answer any two questions from the following:  

িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 
10×2 = 20

(a) (i)  Find the standard deviation of the series: 1, 3, 5, 7, ......., 25.  
িনেmর সািরর সমক িবcয্িত িনধর্ারণ কেরাঃ  1, 3, 5, 7, ......., 25. 

4

 (ii) The number of runs scored by cricketers A and B during a test series for each 
 of the 10 innings is shown below: 
 িkেকট েখেলায়াড় A এবং B-এর 10 িট ইিনংেসর রান িনেচ েদওয়া হলঃ 

A 34 36 45 75 12 61 40 58 82 11 
B 47 38 52 42 36 54 48 34 50 54 

 

6

 Make a comparative study of their batting performance. 
উভেয়র বয্ািটং দkতার tলনা কেরা। 
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(b) (i) Discuss different measures of skewness.  
pিতৈবষেময্র িবিভn পিরমাপgিল আেলাচনা কেরা। 

3

 (ii) Find the median from the following data. 
 িনেচর পিরসংখয্া িনেবশন েথেক মধয্মার মান িনণর্য় কেরাঃ 

5+2

Weight in kg 
(ওজন িকেলাgাম) 36-40 41-45 46-50 51-55 56-60 61-65 66-70 

No. of person 
(েলাকসংখয্া) 14 26 40 53 50 37 25 

 If mean is 54.3 kg, comment on the shape of the distribution. 
 যিদ গড় 54.3 kg হয় তেব িনেবশেনর আকার িকরকম হেব ? 

  
(c) (i) Why do we have two regression lines? Explain.  

 েকন আমরা dিট িনভর্রণ েরখা পাই ? বয্াখয্া কেরা।  
2

 (ii)  A group of workers of a factory is ranked according to their efficiency by two 
different judges as follows. 

 dইজন িবচারক একিট কারখানার একদল Ëিমেকর তােদর কমর্দkতা অনুযায়ী rank কেরন। 
dইজন িবচারেকর rank-gিল িনেm েদওয়া হল। 

Workers 
Ëিমক 

A B C D E F G H I J 

Judge-1 
pথম িবচারক 

4 8 6 7 1 3 2 5 10 9 

Judge-2 
িdতীয়  িবচারক 

3 9 6 5 1 2 4 7 8 10 

 Calculate rank correlation coefficient. Explain the result.  
 র য্াংক সহগিত gণাì িনণর্য় কেরা। উtর বয্াখয্া কেরা।  

4+1

 (iii) State the limitations of correlation coefficient xyr . 

 সহগিত সহগাì ( xyr )-এর সীমাবdতা উেlখ কেরা।  
3

(d) (i) What do you mean by time series?  
 কালীন সাির বলেত িক েবােঝা ?  

2

 (ii) Fit a trend line to the following data and estimate the trend value for 1994.  
 িনেm pদt তথয্ েথেক রািশিটর pবণতা সমীকরণ িনণর্য় কেরা। ১৯৯৪ সােলর pবণতার মান 

িনণর্য় কেরা। 

6+2

Year (সাল) 1983 1984 1985 1986 1987 1988 1989 

Price-index (দাম সূচক) 82 76 72 69 68 70 72 
 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  
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